
fff sempre molto agitato

1

Vivo

2

Allegro con fuoco

3

Allegro assai vivace

fff

unis

ff f p pp

4

ff restez

5

Allegro vivace e nobilmente

f

6

accel. e cresc.

sf

pizz
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Here are 6 works from the orchestral repertoire, 2 quotes from each work.
1. Name the works and the composers.
2. Pair up the numbers with the letters. So if you think 1 is from the same work as A, write 1A and so on. 
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f geth.

A

Kräftig bewgt. doch nicht zu schnell.

ff

B

Allgro ma non troppo, un poco maestoso 

ff

C

Allgro, molto con brio

p

D

Moderato e maestoso

ff sempre sf

pizz

sff

arco

sf

pizz

sff

E

Vivo

p

pizzicato sempre

F

Allegro
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